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A-209(A)

B.A. II/B.A./B.Sc. (Part-1I) (Hons.) (Geography)

Examination, 2022

ECONOMICS
Paper - II(A)

(Indian Economy)

Time : 1% Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all ten questions (Answer limit 50 words). Each question carries

Note —

M —

2 marks.

(@us—3) (3k : 2 x 10 = 20)
Tfi T YAl % ST ST (ST 50 ) | FAF YA 2 3F HT T
Section-B (Marks : 7 x 5 = 35)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 7 marks.

(Tus—a) (3®: 7 x 5 = 35)
T Ofer el % S SISl TS e H foeeq @1 e #ifeg (Sw-dmE
200 ¥IT) | TOF YT 7 3TH H T

Section—C (Marks : 15 x 3 = 45)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.

(Tue-w) (3 : 15 x 3 = 45)
o= | § fegl 9 9e & St SifST (SW-dm 500 Is) | Yo 99 15 37
Ealk
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Section—-A (@Us-37)
1. @ Theory of drain

et o1 g
(i) Land resources of India
aRd & g G
(ii1)) Land reforms
i gom
(iv)  Privatisation
fstteRar
(v)  Population size and sex ratio of India as per census 2011
2011 & SFIUAT & STTAR YR I SHEEAT HT SMHR TS femurd
(vi) Rural credit
Tt fom
(vit) Slogan of 12th five year plan
124 g=@sta 1 1 A
(viii) Multinational corporation
EU=E R
(ix) Foreign direct investment
faceht geaer fram
(x) MRTP Act
TH.SRAW. &=
Section-B (WUs-4)
2. What are the basic features of Indian Economy ?
IRAT STefeael i SHRYd fawoand #=r § 2
Or (31a)
Explain the forms and consequences of colonial exploitation in India.
IRa # siufafis wior & yeRr wd afoms ) = i)
3.  What is the impact of WTO on Indian agriculture ?
IR FH W e=g Al & F g § ?
Or (31)
Explain occupational distribution of population in India.
URG | SHEE & SAEdges e s 99y |

BR-26(A&B) (2 )

2x10=20

7%5=35
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10.

11.

Explain the main features of Industrial Policy, 1991.
1991 =t S¥renfir ifa w1 qea fagivand sasy |

Or (31a)
Write short notes on FERA and FEMA.
U qA B R i feoroht fafe |
Explain the 12th Five Year Plan in brief.
& § 12& g=asa A 99EET |

Or (31a)
What is the impact of liberalisation and globalisation on Indian economy ?
IRAT SAdTTEN T STRIBIU TH STSHI0 % FUTS T Se0Ra TS |
What are the recent export promotion measures adopted by India ?
T B H 9RA §N AT MY R HegA s w2

Or (31a)
Explain the relevance of SWADESHI.
RN i YrEfTRT TSR |

Section-C (WUS-¥) 15x3=45

Explain the structure and organisation of villages, towns and handicrafts in pre-
British period.
fafeer-qa = # e, W8 A gUeRTn @ & feafd sHemsy |
What is absolute and relative poverty ? What are the steps taken by the Govt. to
eradicate poverty and unemployment ?
e Td U e ¥ 7 YRG WER FR T TF SRSTRE 39eH o 1 hed
ST MY E ?
Explain the role of private sector enterprises in Indias industrialisation. What
are the problems of small scale industries in India ?

IRA & STEreer | st & & ArTeE 1 faversor Fifse | YRa | &7 SE i aEend
w1 ¥ ?

What are the objectives and achievements of Indian planning ?

ORAE A & 3299 A Suateddl o § 2

What is the composition and direction of foreign trade in India ?

aRd H ooyt =R & "= T foun i e it
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A—209(B)

B.A. II/B.A./B.Sc. (Part-1I) (Hons.) (Geography)

Examination, 2022

ECONOMICS
Paper - II(B)

(Applications of Mathematics in Economics)

Time : 1% Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries
2 marks.
(TUe—3) (3 : 2 x 10 = 20)
e - it TE T B SW AT (S-S 50 IK) | Y&F U 2 3F T
Section-B (Marks : 7 x 5 = 35)
Note .— Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 7 marks.
(TuE-—=) (3® : 7 x 5 = 35)
AT~ Tl uter yvHEl ® SW SN Yedeh Wy H faeheu w1 =R wifsw (S-EE
200 I1) | FAF YT 7 3F I B
Section—C (Marks : 15 x 3 = 45)
Note .— Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.
(@ue-—|) (3® : 15 x 3 = 45)
qe - = H ¥ EE A e & S e (SW-EE 500 ) | Y& We 15 &

=l
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Section—A (GUS-3)
1. Answer all the following questions :

frefafea Tt 9= =1 & S

d
()  Find d—i, ify = (8 + 8)(C + 11).

A y = (3 + 8)(C + 11) &, @ % freptfera |
(i1))  Define cross-price elasticity of demand.
A H fs-wma dE w1 R i |
(ii1)) Isoquants
I ok
(iv)  FElasticity of substitution
gfqeamaT & A=
(v)  Define Accelerator.
T ol GRS i |
(vi) Marginal propensity to consume
Sy R e T
(vii) Dual
ER Y
(viii) Pay-off matrix
-3t Bfgew
(ix) Technology matrix
Tehetent Higem
(x)  Closed model
T HAisA

Section-B (@US-)

2. Derive ordinary demand function when U = g¢,.q,.

A U = g,.q, & T WERO HiT HoH A R |

BR-26(A&B) (5 )

2x10=20

7%5=35
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Or (31
Explain the concept of rate of commodity substitution.
TE] FaETH & W h [TIR H qHSAET
3.  Write the properties of Cobb-Douglas production function.
FHIF-STAH 3AET e i faRiodd Hssy |
Or (31

Prove that constant elasticity of substitution production function is homogeneous
of degree one.

fag =wifst for faeemod =1 &= 1 SR Wod et T 999 8l B
4. Derive the investment multiplier of J.M. Keynes.
S.UH. % % OHERT R @ e it |
Or (31
Write a short note on Cob-Web Model.
Hig-99 diea W wiya feooft fafem
5. What do you mean by zero sum game ?
I AN WA G T A T § 2
Or (3A)

Find the dual of the following primal :
Maximize : T = 10x; + 6x,
Subject to : 12x, + 4x, < 72

10x; + 10x, < 80

4xl + 8x2 < 56

xp, % 20
7= yrsHe w1 gt feRifa .
AfRay HifaT m = 10x; + 6x,
Afdse 39 YHR 12x, + 4xy < 72

10x1 + 10x2 < 80
4xl + 8x2 < 56

xp, %, 20
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6. The input-output system of three industries is following :

0.2 0.1 0.6
05 04 04
0.1 04 0.2

[Al=

Does Hawkins-Simon condition is fulfilled in it ?

T e H STYE-3MSSYE YUIel! 39 WHR T ¢

0.2 0.1 0.6
[A]=]|05 04 04
0.1 04 02
T 39 BAh9-TEAT H WG U et § 2
Or (1)

0.2 04 60
Given [A] { 01 0. 5} and [F] { 4 O] calculate gross product.

02 04 60
A — F — 3 A (AW
fe © [A] {0‘1 0‘5} qen [F] Lo]mulswaﬁqﬂmql

Section-C (@Us-W) 15%x3=45

7. If utility function is Uzqi's-qz and 3¢, + 4q, = 100, then find the optimal
quantities of purchase of the consumer.
s ST et U =i g, 99 3¢, + 4g, = 100 &, T SusierT 1 srfcperd Bl
T HETC I HI |
8.  Given the general form of Cobb-Douglas production function as :
Q = AK*LP
and budget constraint as :
KPy +LP =C
Prove input ratio in case of optimum condition as :
Ko
L BPk
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T G e o1 Hie-ged 3 wed Q = AKY.LP  qen s gfteiy K. Py +
L.P, = C =1 feafd # fezn gon @1 foag *IfSq T s7qe orqum, wfisier 1 seheras
T |/ = B

K _ (X.PL

L BPg
9. Discuss the four time paths of interaction between multiplier and accelerator.
O F @R HI STIRA W S & AR UG R o= Hife |
10. Solve with the help of Simplex method of linear programming :
Maximize : T = 4x, + 3x,
Constraints : x; + 2.5%, < 20

1‘5961 + 1.5x2 <15

dx, + 2x, < 32
xp, %5 20
e gt =t foree fafy § s =i -
AfRay HifaT m = 4x, + 3x,
I x; + 2.5x, < 20

1.5x; + 1.5x, < 15
4xl + 2962 < 32
xp, %5 20
11. Explain input-output analysis. What are the assumptions of input-output analysis.

Y-S Tageiool o1 FHEESY | ST 3TSe favetomr =t & H=ad & ?
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